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Attempt any Five questions.
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4w w3 e
T R s € |

L () Fxplain how Production Possibility Curve lustrateg

the concepts of searcity, chojce and opportunity

1
st, 7:
cos

Explain briefly the factors causing shift of demand

curve, 2
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{c} - Among supply curves S,, S, and S,, which has the

‘highest price elasticity of supply at point A in the

. 1
diagram ? 25
A
Price
N
=
Quantity

() IARA THE T U, WA TE A Al
aﬁmaﬁaﬁ%ﬁwhr%?avhaﬁﬁ'&_l
(a);yﬁwﬁf&maﬂﬁa’lﬁmmﬁéﬂﬁ

Ll SL
P.T.0.



(4) 852

(m) fax d fag Am s, 5, @ s, Y 7= 7 froal

ofi = wm e wed I ¥ 2

{ar)

tb)

(¢)

S
1 82
83
A
>
-
i
Explain the concept of consumer surplus. 5

With the help of indifference curve show what would

be the effect on the consumer’s equilibrium when

) ] 1
income of the consumer ncreases. 75

What would be the shape of an indifference curve

1
when two goods are perfect complements ? 25
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(@) |Discuss how the shapes of short-run cost curves can

be explained by the law of variable proportions. 7 2

() Describe the characteristics of an Isoquant
’ 1

7=

curve. 2
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4. (@ “In perfect competition market structure, a firm may
' s

suffer losses or make profits only in short-run

equilibrium but not in long-run equilibrium.” Describe
this statement. 10
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{b) What do you mean by excess capacity in mono-

polistic competition market structure ? 5
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(@} Derive the labour supply curve with the help of

o 1
indifference curve. 7=

2
b} 1lustrate with diagrams how economic rent is

. .. 1
influenced by elasticity of supply. 7=

2
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Discuss meaning and sources of market fajlure. 9
What steps should government take to control
monopolistic practices and streng.then competi-

tion ? . - 6
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Explaining comparative advantage theory of inter-

national trade, tell which coﬁlmodity U.S.A. should

produce and export in the table below ' 7—;—
USA. UK.

Wheat (ton) 200 120

Cloth (bales) 80 60

What would be the changes in the market equili-
i

brium price and quantity of a commodity due to

1

changes in taxes ? Explain diagrammatically. 7-2—
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U.S.A. UK.
A () 200 120
HUG (HeT) 80 60
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Write short notes on any twe of the following : 7%+7%
{a) Price Ceiling Policy and Black marketing; —
(6) Basic dilemma of Oligopolistic firm;

(¢} Price discrimination in monopoly;

{d) Terms of trade.
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